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91. Move from star to star to spell out a ten-letter word.
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WEEENREAEMEAICER, BAEREARFEENEIL, BE
XEBRKHEER, RERREEEEES . \A—1ERH—E,F
B AN REBLER , B 5 MR =i PRI T 45 R &5 Hlice, break, Fii'E
IERERMA R T &K .icebreaker,

92. Albert, Bernard and Claire have to share 23 £ 1 coins in
pocket money between them so that:

i) Albert gets half of the total,

i) Bernard gets a third and

iii) Claire receives an eighth.

“That’s impossible to do with these coins,” said Albert.

“Not if Daddy lends us something,” said Claire.

What did their father lend the children, and how much did they
each receive?

BB RS, RITE SN ZBAH1/2, 1/3, 1/8BWEH 4, BB
A5 2ty , 3t esy , E 23R L B F 224, R it REMAIH
SOREMABEE T , B R248, BT L4 24 x 1/2 = 125 24 x 1/3 = 8;
24 x1/8=3, 12+ 8+ 3 =23,

Father lent them another pound coin so that they had 24 coins.
Thus Albert gets £12, Bernard gets £8, Claire gets £3. This leaves
one coin left over, which they give back.

93. What number should replace the question mark?




SRR AR R BB AT BRI, ETEEARELERR R
Ta

379

94. Which day is two days before the day after the day three
days after the day before Tuesday?

UE
WEDNESDAY
URSDAY

— »
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STAURDAY

I R B4R TE R beforefafter, RFH#E FHAABRMNEE
AU BT 45 215 52 & : WEDNESDAY ,

95. The letters from “a” to “y” are randomly (f£&#) allocated(4
i) the values 1 to 25 (a bit like algebra (1t%1)).

On average, what would be the result of the product:

(a-n)x(b-n)x(c-n)X.x(x-n)x(y-n)=7?

BRKERGEHF2HRAE, ERNRFLEENEMEHE (R E
FIMK SR , Bt B R AE T ) BTCABLRE R %% 18 3 LI m X
HURE—NR(n - n ), XREERIR K, BH T M E i —
HAHO0, MEEBRREO, Zero, because the (n — n ) term in the middle
of the product equals zero; multiplying any numbers by zero equals
zero, no matter what the values of the numbers are.

BT L, B < A R, B R B M SR R A
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AF, AT R R —AMAH R B R R A R R
B, BEET P ITANEHERREBEE R, RARSIEHETAEMR
Z M IGWBRA T LUEH B R, XA B] LUEE EAure 8 ) il
R, i R B AT R i e ) — 28R

YR TECE BT — B AR B R A —BP R
ETTREEFERT, RTEEFTEWNT .

1 E AT —— 2 R S B 2 BROR AR B R 38 i) BRI 43 R LA
Moy, AT RBERBRRERES; o —RPFR—A E R
H, Bl HPRZEXR, RBFTTERER, NI B 545 & R <
e MAHIRR , NTIR SR,

2. E BT E—E SR R B R AR R AL BT, Ok
#E3) BRI EE

3 EHFAA—RACHES REF KRB EE F iR
DEHRR SETUER, FEMNERERER, LR REER
UR

4. HEREF—ETFERHANERREEEMTLRER A
AIREIRI R AR T |, R4/ BRTEE, AR — S EER BN A
B, FERLXERRT, FLEERZIRE, 4R, IENEE BRER
EINEN B 5.

5. e 5% E—R BN RIRHTI S HAEREIFIRER
ML B AT R SRR S PR &R S A EE
%o

6. RYIEIRE—E BRI RNERER T R | PR ATREIRAE R B9 7 2.
AIREHE — s B oC R ok, BAR B (R (K 5, B4 22 B) B R 51, BR
HHALRERXR, BEHM N ERREMER, FLRL% 20 EHFE
*, METREZEE EE REFE AN FEXRE RN ENE
%,

1. BRERKE—BIRER, SEAEMR, B ABK,NE




IHE TR, EF B RREA B, BKB5E 2 A F K BB 2 A FEK
MR EREFFHBE ¥ KU, EREAIEN TR B
thEFEEE, ANEERTAEENBYE FHEBLENBEREES H .

ERMTEBELTTEARFRER T, AR REMTRES & KT
BRI, TR N &R R RIS & KT, BN HREER T &%
&R R K — BT,
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(P RESE
figure out 9z, B#, 7HH

sequence n.

KFF, Wi, FF3

alphabetical adj. HKFEHIRFFE, FREH

depict vt R, 5

nitial adj. BWIN), WEE, YIEEK o HAEKEFEE
bracket n. FEI,FES

successive adj. Sk, LK

descending n. B

transpose .

W, BB, B0

saying n. Ei&
alternately adv. ATEHE, FE—/ b

reverse adj.

FR B, IR H, FBE

odd adj. FEK;HBERE;AFER

consonant n.

W, METR

vowel n. JTE;LEFE

even number

B

odd number &
decimal adj.
terminal adj.

TRER, ANEH, PR RN, HEER] o N
Rk, &, 2 =K




factorial adj. BEFHI, MMM n BYIEER, M
integer n. B¥

skip v B, BkiE, B, BkEK

Can you figure out what is so special about it?
PREETIH R R Ab G 7

What comes next in this sequence?
R, T— N2t 4r

Which letter is missing from this sequence?

T EBFS D T AN R

What word, expression, or name is depicted below?
TR )RR A A A B L2

What word most logically goes in the brackets?
S AEANBAN BRI EH

What well-known saying has been altered below?
—HE AR EERBCR R T ERET & XA EER—RT 47
Which word is the odd one out?

WA~ HiAH R

Strong is to weak as hotisto______.

Strongt thweak#thotfl___ Xtbb—#f,

0 55w o

1. What is the next number in this series;
18, 46, 94, 63, 52 ?

F—EHAMENLESR , B AT RE— THUF,81.64.49,

36.25, UM TITU#E . BR 16, AXIE, FEIE — T B .61, X T &

BT,

H) in the same group?

(61. Each is a perfect square read from back to front.)

2. In Common what is the one thing shared by all three items (3




o

A B

acow a doctor’s office
ashoe a post office

a baby music

C D

a zipper($1E) restaurant goer
a shark a bird

acomb the Senate

E F

a potato ariver

a hurricane(M&X\) | a person

a target acave

XEFERZERFEZNIERIL, T EXHE LE T ROZA1T,

A. tongue IR H &% Fla cowflla baby, H4 A& EEIRE E
MXEFEHRA, /T & E—4-shoe, AMIEENEAHENZRILHR
Roa, A, R rsniEtongue BEER B RREFHE T, THRKJLAE
——EH,

B. a scale (or a key) ZRMPGERE . ZIE &, X7, FH

C. teeth ZBHRMVGERR . PIENUORY ;T RFoiRa&

D. a bil ZERMIGERR KPR, T8, W0E, R %, LW

E.aneye ZRMIGERE.ZFR ;KR (&R AL AAE 0
TERX 5%) ; #E.0

F. a mouth %%E‘Jﬂi%ﬁﬁ,ﬂ{lﬁju ;?E“:l ;%

3. What would logically (#F4&%#1) come next in this sequence?

S30 031 N30 ??
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Leggil - _§

BERHAE 30, 31, 30 A ABFTREERR, N T ARAKRK
¥EEEYE, EFRALA TA T —ANEFEE, §7T ,A8K3T,
—V)faE ! & FRDecember

D(+=A) 31 days (31X), D31. (D31. The sequence is made up of
the initials (A& AE¥%®&) of the months and the number of days in
each month.)

HErza

FEHARBETH FEHERBTR BENE
WHER. GEHIEE SRS RIS .

Bt RO e e T SSER S St 3
S R T4k 2)
1. What comes next in this sequence:
fawn (/hgE), bear, lion, mole #&®K),_ ?

Select from: seal, duck, stag (4:#), vole (H&), wolf.

2. What well-known saying is this:

lla ta devol evah ot reven naht tsol dna devol evah ot retteb si ti
3. If EELS + MARK + BEST + WARY = EASY

What does HELP + BARK + WARD + LEAD equal?

4. What are the next three in this sequence:
21F11FO01F9F ?

5. Which word is the odd one out?

that hat what mat (#F) cat sat pat (%) chat (#iX)

6. What number comes next in this sequence:

302 202 102 2 991 ?
7. What number comes next in the sequence:
1317 3137717379 97 ?

8. What number comes next in the sequence:



